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ECONOMICS HSSC-I
SECTION — A (Marks 20)

Time allowed: 25 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 25 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(1)
(ii)

(i)

(iv)

(v)

(vi)
(vii)

(viii)

(xvi)
{xvii)

(xwviii)

For Examiner's use only:

Economic problems arise because of

A Greed B. Scarcity C. Dishonesty D. Laziness
Market system means

A Saocialism B Capitalism

C. A place where goods are traded D All of these

The term ‘marginal’ in economics means

A. Unimpaortant B Additional

C The minimum unit D Important

Human wants are

A One thousand B. Few C. Innumerable D. Countable
Price of a product falls by 10% and its demand rises by 30%. The elasticity of demand is

A. 10% B. 30% C. 3 D. Va

When price elasticity of demand for normal goods is calculated, the vaiue is always

A Positive B. Negative C. Constant D. Greater than one
Price of a product is determined in a free market by

A The demand for the product B. The supply of the product

C. Both demand and supply D. The government

Productivity of land can be raised by

A Extensive culfivation B. Intensive cultivation

C. Better marketing D. Both A and B

All labour is

A Homogeneous B. Heterogeneous C. Lazy D. Intefligent
Which of the following is producer goods?

A Pen B. Cycle C. Maobile phone D. Hammer
The person who prepares the initial plan of a business is called

A Capitalist B. Manager C Entrepreneur D. Officer
Which of the foliowing factors of production is geographically immobile?

A Land B. Labour C. Capital D. Organizer
MC is given by slope of

A TFC B. TC C. AC D. TR

The necessary condition for equilibriurn position of a firm is

A MR>MC B. MC > Price C. MC=MR D. None of these
If the marginal product of labour rises because of new technology

A Wages wili rise B. Wages will fall

C. Woages will be unaffected D. Wages may rise or fall

Professor Knight is famous for his theory of

A Rent B. Profit C Population D. Wages
Utility and usefulness are

A Equal B. Different C. Simitar D. Unrelated
Egquilibrium

A Is a state that can never be achieved in Economics

B. Is an important idea for predicting economic change

C. Is a stable condition

D. Is an unstable condition

Which of the following goods has elasticity of demand more than unity i.e Ed >17

A Salt B. Ghee C. Car D. Flour
Which of the following is NOT U-shaped?

A AVC B. AFC C. AC D. MC

Total Marks:

20
Marks Obtained: Ej
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ECONOMICS HSSC-I

Time allowed: 2:35 Hours Total Marks Sections B and C: 80

NOTE: Answer any fifteen parts from Section ‘B (a)’ one part from Section ‘B(b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.e.
Sheet-B if required. Write your answers neatly and legibly.

SECTION - B {Marks 50)

Q.2 a Attempt any FIFTEEN parts. The answer to each part should not exceed 3 to 5 lines.
(15 x 3 = 45)

() Define Indifference Curve.
(i) What do you mean by Utility?
(iii) Define Variable.
(iv) Make a graph of the following function:
Qd=10-2P
V) What do you mean by Elasticity of demand?
Vi) What is Production Function?
vii) Define Labour force.
viii) Differentiate between Consumers goods and Capital goods.

ix) Define Organization.

(

(

(

(

(

(x) Define Macro Economics.

(xi) What is Normal profit?

(xii) Define Applied economics.

(xiii)  What is Economic Rent?

(xiv)  What do you mean by Gross Interes{?

(xv) What are Windfall profits?

(xvi) Solve the following equations to find the equilibrium price and equilibrium guantity:
Qd=40-3P Qs=—-2+4P

xvii)  Define Monopoly. Give one example.

xviii)  What is an Economic Problem? How and when does it arise?

(

(

(xix)  What do you mean by Capital formation?

(xx) Differentiate between Sunk Capital and Floating Capital.
(

xxiy  What do you mean by mobility of labour?

b. Attempt any ONE part. (1x5=5)
0] Explain necessary conditions of Perfect Competition.
(ip) Explain factors affecting Real wages.

SECTION — C (Marks 30)

Note: Attempt any THREE questions. All question carry equal marks. (3x10=30)
Q.3  Explain the Law of Diminishing Marginal Utility with the help of schedule and diagram.
Q.4 Explain Law of Decreasing Returns with the help of table and diagram.
Q.5 How is market equilibrium established with the help of demand and supply? Explain with the help
of schedule and diagram.

Q.6 Explain the long run equilibrium of firm with the help of diagram under monopoly.
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